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Instructions  
• Use black ink or ball-point pen.  
• Fill in the boxes at the top of this page with your name,  
Centre number and candidate number.  
• Answer all questions.  
• Answer the questions in the spaces provided  
– There may be more space than you need.  
• Scientific calculators may be used.  
• You must show all your working out with your answer clearly identified  
At the end of your solution.  
  
Information  
• The marks for each question are shown in brackets  
– use this as a guide as to how much time to spend on each question.  
  
Advice  
• Read each question carefully before you start to answer it.  
• Try to answer every question.  
• Check your answers if you have time at the end.  
  

 
 
 

 



Q1. 
  

Jenny wants to find out what students at her school think about the after-school clubs. 

Jenny is going to use a questionnaire. 

Here is one of the questions she wants to put on the questionnaire. 

 

(a)   This is not a suitable question. 

Explain why. 

 .............................................................................................................................................  

(1) 

Here is another of the questions that Jenny wants to put on the questionnaire. 

 

(b)   Discuss whether or not this is a suitable question for the questionnaire. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

  

(Total for question = 3 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q2. 
  

Lian and Natalie own a bookshop. 

They are investigating the age of each of their customers and how much each customer spends on books 
each month. 

One question that Lian plans to ask his customers is 

"How old are you?" 

(a)  Explain whether or not this is a good question for Lian to ask. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

(b)  Write a question that could be used on a questionnaire to find out how much each customer spends 
on books each month. 

 
 
 
 
 
 
 
 
 
 

(2) 

Natalie thinks that giving a questionnaire to each customer is better than asking the customers questions 
face to face. 

(c)  Give one advantage for each of these methods of collecting data. 

Giving a questionnaire: 

 .............................................................................................................................................  

 .............................................................................................................................................  

Asking questions face to face: 

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

  

(Total for question = 6 marks) 

  

 
 
 
 



Q3. 
  

Tracy wants to find out what improvements to the youth club are wanted by the members of the club. 

She plans to give each member of the club a questionnaire. 

Here is part of the questionnaire. 

 

(a)  Explain why Question 2 will not give reliable results. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

(b)  Explain why Question 3 is not a good question. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

(c)  Explain why there might be a problem with the answers given to Question 4 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

(d)  Explain why the answers given to Question 5 may not be valid. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

  

(Total for question = 4 marks) 

  

 
 



Q4. 
  

There are 40 scouts in a scout group. 

The scout group leader needs to find out the activities the scouts want to do at their summer camp. 

He is going to give a questionnaire to all 40 scouts. 

(a)   State the population. 

 .............................................................................................................................................  

(1) 

(b)   Write down the statistical name for an investigation that gets information from every member of the 
population. 

 
 ...........................................................  

(1) 

(c)   Give one reason why using a sample of the scouts in the group is not necessary. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

(d)   Give one possible problem with using a questionnaire with all 40 scouts. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

The scout leader also wants to find out how long the scouts would like the summer camp to be. 

(e)   Design a suitable question for the questionnaire. 

 
 
 
 
 
 
 
 
 
 

(2) 

  

(Total for question = 6 marks) 

  

 

 

 
 



Q5. 
  

Salyza works for an IT company.  
She wants to collect information about the earnings of workers at the company.  
She is going to use a questionnaire. 

Here is one of the questions she wants to put on the questionnaire. 

 

Explain whether or not this is a suitable question for the questionnaire. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

  

(Total for question = 2 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q6. 
  

Chirag wants to investigate patient satisfaction at the hospital where he works. 

Here are the first three questions on the questionnaire he has produced. 

 

None of these questions is appropriate.  
In each case, explain why. 

1 ..........................................................................................................................................  

 .............................................................................................................................................  

2 ..........................................................................................................................................  

 .............................................................................................................................................  

3 ..........................................................................................................................................  

 .............................................................................................................................................  

  

(Total for question = 3 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q7. 
  

Julie and Bevan own a sandwich company. 

They deliver sandwiches to customers for lunch in each of 30 offices every day. 
 There are a number of customers in each office. 

Julie wants to make changes to the sandwich menu. 
 She decides to find out the opinions of the customers. 

(a)   Describe the population for the survey. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

 
Bevan wants to use a census to collect the customers' opinions. 

(b)   Write down one advantage of using a census. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

 
Julie wants to use a sample of the customers, rather than a census. 

(c)   Give two reasons why a sample might be better. 

Reason 1 
 .............................................................................................................................................  

 .............................................................................................................................................  

Reason 2 
 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

 
(d)   Explain what is meant by a random sample. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

 
 

 

 



Julie designs a questionnaire to give to customers. 

One question on Julie's questionnaire is 

Do you agree that the sandwiches are good value for money? 

This is not a good question. 

(e)   Give two reasons why. 

Reason 1 
 .............................................................................................................................................  

 .............................................................................................................................................  

Reason 2 
 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

 
Bevan wants to use face to face interviews with the customers. 

(f)   Give one advantage and one disadvantage of using face to face interviews rather than a 
questionnaire given to customers. 

Advantage 
 .............................................................................................................................................  

 .............................................................................................................................................  

Disadvantage 
 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

 
(Total for Question = 9 marks) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q8. 

A new theatre was built in Appleyard. 
 Appleyard council wants to find out what people think of the new theatre. 
 The council decides to collect information using a questionnaire. 

(a) State one advantage and one disadvantage of using a questionnaire rather than a face to face 
interview. 

Advantage . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ... 

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

Disadvantage. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(2) 

 Councillor Flowers wants this question on the questionnaire. 

'Do you agree that the new theatre was a good use of council money?'  

This is not a good question. 

(b) Give two reasons why. 

Reason 1 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

Reason 2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(2) 



The council also wants to know how much people would pay to use the car park at the new theatre.  

(c) Design a suitable question for the questionnaire. 

  

  

  

(2) 

The council decides to send the questionnaire to a sample of people. 

(d) Give two advantages of taking a sample. 

Advantage 1 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

Advantage 2 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(2) 

The questionnaire is to be sent to 20 people chosen at random from the local telephone directory. 

(e) Discuss whether or not this would give a good sample. 

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ..  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(2) 

(Total for Question is 10 marks) 

 



Q9. 
  

A fitness company is planning to open a new gym in a town. 

The company wants to collect information about the health of people in the town. 

The company plans to interview people in the town centre and ask them questions from a  
questionnaire. 

Here are two of the questions from the questionnaire. 

A     How old are you? 

B     What is your weight? 

Discuss whether using these questions in an interview is an appropriate way to collect  
this information. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

  

(Total for question = 3 marks) 

  

 
 
 
 
 
 
 
 
 
 
 



Q10. 
  

The directors of a company want to make changes to the company's pension scheme. 

The directors want to find out what the employees think about the proposed changes to the pension 
scheme. 

The directors will collect the information by using one of two data collection methods. 

Method 1:     each employee will be interviewed by one of the directors. 

Method 2:     each employee will complete a questionnaire without filling in their name. 

There are 100 employees in the company. 

Discuss how appropriate each of these two data collection methods are. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

  

(Total for question = 4 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q11. 
  

The employees in an office were asked the following question. 

"How generous do you feel is the amount of time allowed for your lunch break?" 

This is not a good question. 

Give two reasons why. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

  

(Total for question = 2 marks) 

  

 
 
Q12. 
  

A new train line is planned to go near to a small town. 

David wants to find out what people living in the town think about this train line. 

He is going to send a questionnaire to all the homes in the town. 

David thinks using questionnaires is better than using a telephone survey. 

(a)  Give one reason why David thinks this. 

............................................................................................................................................. 

............................................................................................................................................. 

(1) 

 

 

 

 

 

 

 

 



David wants to put the two questions below on the questionnaire. 

 

Both Question A and Question B are not good questions. 

(b)  Give one reason why for each question. 

 
Question A ..........................................................................................................................  

............................................................................................................................................. 

............................................................................................................................................. 

Question B ..........................................................................................................................  

............................................................................................................................................. 

............................................................................................................................................. 

(2) 

David wants to check if the questionnaire will work.  
Then he can send it to each home. 

(c)  How can David check if the questionnaire will work? 

Explain your answer. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

............................................................................................................................................. 

(3) 
(Total for question = 6 marks) 



Q13. 
  

Edward is investigating the amount of money children and adults spend online. 

He is going to do a pilot study for his questionnaire. 

(a)  Describe what a pilot study is and give one advantage of using a pilot study. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

Edward produces a questionnaire with closed questions. 

(b)  Give one reason why closed questions might be more appropriate than open questions. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

  

(Total for question = 3 marks) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q14. 
  

A company wants to investigate the number of sick days its employees have off work. 

The company uses a questionnaire. 

Here is one of the questions on the questionnaire. 

 

(a)  Assess the appropriateness of the method the company uses. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(2) 

All the company's employees completed the question. 

615 ticked box A. 

102 ticked box B. 

(b)  Show that an estimate of the number of employees who ticked box A because they answered yes to 
the question is 137 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1) 

  

(Total for question = 3 marks) 

  

 
 



Q15. 
  

A film company employs Gary to investigate the film-watching habits of people living in the UK. 

Gary is going to use a questionnaire. 

Here is Question 1 on Gary's questionnaire. 

 

The method used to decide whether or not to answer a question by spinning a coin is called the random 
response technique. 

(a)   Explain why this method is used. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

Gary sends the questionnaire to a sample of people living in a town. 

He uses a telephone directory as the sample frame. 

For Question 1 

743 people ticked box A 

679 people ticked box B 

(b)   Calculate an estimate of the proportion of the people in the sample who had downloaded a film 
illegally during the last month. 

 
 
 
 

 ...........................................................  

(3) 

 



Gary is going to write a report on the outcome of Question 1. 

He is going to use the answer to part (b)   as an estimate of the proportion of all the people living in the 
UK who had downloaded a film illegally during the last month. 

(c)   Is it appropriate for Gary to use the answer to part (b)? 

Give two reasons for your answer. 

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(3) 

  

(Total for question = 7 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q16. 
  

Remi wants to find out about the number of people that avoid paying tax.  
He used a random response question to collect his data. 

This is a suitable technique to use. 

(a)  Explain why. 

 .............................................................................................................................................  

 .............................................................................................................................................  

(1) 

Here is the random response question that Remi used on a questionnaire. 

 

Remi sent the questionnaire to a sample of people. 

For this question, 

426 people ticked box A 
354 people ticked box B 

A group of researchers also collected data on the number of people that avoid paying tax by directly 
asking people. 

They found that 5.9% of the people they asked said that they had avoided paying tax. 

(Source: www.emeraldinsight.com) 

(b)  Compare the results of Remi's questionnaire with the results obtained by the researchers. 

You should consider whether the use of the random response technique was effective and you should 
give a limitation of your conclusion. 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 
 
 
 
 
 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

 .............................................................................................................................................  

(5) 

  

(Total for question = 6 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q17. 
  

John wants to know which pets are more popular, dogs or cats. 

Write down a question that John could use on a questionnaire to investigate this. 

 
 
 
 
 
 
 
 

(1) 

  

(Total for question = 1 mark) 

  

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Q18. 
  

A record company wants to estimate the proportion of people who downloaded music illegally during the 
last month. 

They want people to be able to give honest answers so they designed the survey below. 

 

1000 people completed the survey. 

(a)  Estimate the number of people who got Heads on the coin. 

 
 

 ...........................................................  

(1) 

560 of the 1000 people ticked box A. 

(b)  Estimate the proportion of people who downloaded music illegally during the last month. 

 
 

 ...........................................................  

(2) 

  

(Total for question = 3 marks) 

  

 
 


